Adding/Subtracting Decimals (A)

56.7 — 3.56 =

261 -13=

03.4 —7.54 =

73.8 — 3.36 =

44.84 — 44.8 =

3.94 —-3.1=

19.47 — 8.4 =

70.2+9.62 =

51.18 +3.92 =

85.4 4+ 3.70 =

Calculate each sum or difference.

54.66 + 40.9 =

9.69 + 7.02 =

32.68 +13.9 =

34.2 4148 =

67.4+44.9 =

49.7+4.3 =

48.3 + 8.6 =

45.86 — 23.67 =

4.7 —-35=

27.07 - 18.22 =
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Adding/Subtracting Decimals (A) Answers

Calculate each sum or difference.

56.7 — 3.56 = 53.14 54.66 4+ 40.9 = 95.56
261 -13=1.31 9.69+7.02 = 16.71
03.4 — 7.54 = 45.86 32.68 +13.9 = 46.58
73.8 —3.36 = 70.44 34.2 +1.48 = 35.68
44.84 — 44.8 = 0.04 6744449 =112.3
3.94-3.1=0.84 49.7 4+ 4.3 = 54

19.47 — 8.4 =11.07 48.3 4 8.6 = 56.9
70.2 +9.62 = 79.82 45.86 — 23.67 = 22.19
01.18 +3.92 = 55.1 47 -35=12

85.4 + 3.70 = 89.1 27.07 = 18.22 = 8.85
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